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Instructions : (1) Each question carries equal marks.
(2) Please mention the question no. in Column which you answ
7
(2) Hedge Ratio

(3) Call option

(4) From the following information ¢ hted Index :

1. (a) Explain investment attributes.

OR
Explain difference between Capital Market and Money M

(b) Answer any two in brief :
(1) Characteristics of Financial derivatives

Name of the companies
Share price (in %)
Number of shares

(c) Answer any two In D'
(1) Security Risk
(2) Objectives o
(3) Treasury Bi

Risk and Returns. 7

aluation based on Sharpe’s Single Index Model with its

two in brief : 4
pt of Efficient Market Hypothesis.

stry Analysis

ro Coupon Bonds

(b)

Answer any two in one or two lines : 3
(1) Security Market

(2) Random Walk Theory

(3) Yield-to-Maturity (YTM)
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Explain in brief the Markowitz’s Traditional Portfolio theory.

In a Portfolio two securities A and B is included. Security return rate and
probability of both the securities under four economic environment are as under :

OR

Economic Probability Rate of Rate of
Environment Return A (%) | Return B (%)
1 0.10 5 0
2 0.30 10 8
3 0.50 15 18
4 0.10 20 60

Calculate expected rate of return on probability of both the companies.
(b) Answer any two in brief :

(1) Systemic Risk and Unsystematic Risk.

(2) Portfolio Diversification

(3) Diversification of Portfolio Risk.

(4) Jenson method of Portfolio performance evaluation.
(c) Answer any two in one or two lines :

(1) Optimum Portfolio

(2) State four advantages of mutual fund portfolio performance.

(3) Market Portfolio reports

Explain basic framework of Capital Asset Pricing Model (CAPM).
OR

Following is the particulars of two securities X and Y and current situation of
market condition.

Risk free rate of Interest (Rg) = 6.5%
Rate of return of Share Market (R )= 16.5%
Value of Beta for security X (BI) =04

Value of Beta for security Y ([3},) =25

Accordingto CAPM calculate expected rate of return for both the securities X
and Y.

(b) / Answer any two in brief :
(1) __State critisism of CAPM
(2) Security Market Line (SML)
(3) Efficient Frontier
(¢) ~Answer any two in one or two lines :
(1) Capital Market Line (CML)
(2) Name the thinker who has developed the Portfolio theory in 1957.
(3) Arbitrage Pricing Theory (APT)
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5. In the following sub-questions more than one answers are given, from that select the

correct answer (if necessary show calculations) (each one mark) 14
(1) From the following which is not the renowned classification of mutual fund ?
(a) Growth Fund (b) Cheat Fund
(c) Balanced Fund (d) Income Fund
(2) From the following who issues the Treasury Bills ?
(a) Treasury Office (b) Commercial Banks 0
(¢) Financial Institutions (d) Central Bank

(3)  Which of the following is considered as a Gilt-edged security ?
(a) Commercial papers (b) Certificate of deposits
(c) Treasury bills (d) Convertible bonds

(4) In which year India’s first Share Market — The Bombay Stoc
established ?
(a) 1993 (b) 1875
(c) 1947 (d) 1942

(5) Which of the following is not a Security Market ?
(a) Primary Market (b) Customer’
(c) Share Market (d) Capit t

A\

»

0%, (-10%) and 17%
urity ?

(6) If the returns on a security for consecutive thr
respectively, then what will be the ave tu

(@) 9% (b
(c) 15% d)
(7) EPS (Earning Per Share) can be sh om one of the following :

L ]

(8) I ' cipants especially use Technical Analysis ?

1al Institutions
peculators
d Borrowers

e following thinkers had presented the modern Portfolio theory ?
Markowitz (b) William Sharpe
en Rose (d) Black-Brown

(c)

For three circumstances return on a particular share i1s 50%, 30% and 10%
espectively and probability 1s 0.10, 0.7 and 0.2 respectively. What will be the
expected rate of return ?

(a) 30% (b) 28%
(c) 27% (d 29.5%
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(11) Which of the following is not a Portfolio Performance Evaluation method ?

(12)

(13)

(14)
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(a)
(c)

Markowitz Method (b) Sharpe’s Method
Treynot Method (d) Jenson Method

Which of the following has no relation with Capital Market Theory ?

(a)
(b)
(c)
(d)

A beta value of particular security is 2.4, risk free rate of interest is 6
market rate of return is 16%, then under CAPM, what will be the e

of return ?
(a) 10% (b) 24%
(c) 30% (d)

Which of the following price does not state the act

correlation ?
+1
-3

(a)
(c)

Comparison of Individual Security, compared to market portfolio
CAPM (Capital Asset Pricing Model)

APT (Arbitrage Pricing Model)

To reduce portfolio risk by including more and more securities in
portfolio
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